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P7, -9 �b� { 6� � Wald *0S�fmwK Bayes {z *>��Z� � A.Wald *0S�fmwK Bayes {z *>��jkx
P29, - 9-13 �b�Z
“u yi = x(i), i = 1, · · · , n, W

G(y1, y2, · · · , yn) = P (X(1) < y1, X(2) < y2, · · · , X(n) < yn)

=

{
n!P (Xj1 < y1, Xj2 < y2 · · · , Xjn

< yn), y1 < y2 < · · · < yn,

0, �',�b Xj1 < · · · < Xjn
, (j1, · · · , jn) � (1, · · · , n) *�I�t��A�C0Sr*pL:�2 ”B>2

“u yi = x(i), i = 1, · · · , n, g(y1, · · · , yn) 2 n A�C0Sr*pLz3�W
g(y1, · · · , yn)△y1 · · ·△yn ≈ P

(
y1 <X(1)< y1+△y1, · · · , yn <X(n)< yn+△yn

)

= n!f(y1) · · · f(yn)△y1 · · ·△yn + o(△y1 · · ·△yn)% △y1 → 0, · · · ,△yn → 0 ����ba$<J “ ≈ ” �2+J “ = ”, �6)' ”

P51, - 11 �b� { 6� �G
 X *:�e2 {f(θ, x), θ ∈ Θ}Z� �G
 X *:�e2 {f(x, θ), θ ∈ Θ}

P51, -5 �b� 




6� P (X1 = x1, · · · , Xn = xn, T = t0)

P (T = t0)Z� Pθ(X1 = x1, · · · , Xn = xn, T = t0)

Pθ(T = t0)
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P51, -4�b�




6� P
(
X1 = x1, · · · , Xn = t0 −n−1

P

i=1
xi

)

P (T = t0)
=

θt0(1 − θ)n−t0

(
n
t0

)
θt0(1 − θ)n−t0

=
1(
n
t0

) ,Z� Pθ

(
X1 = x1, · · · , Xn = t0 −n−1

P

i=1
xi

)

Pθ(T = t0)
=

θt0(1 − θ)n−t0

(
n
t0

)
θt0(1 − θ)n−t0

=
1(
n
t0

) ,

P53, -4 �b� 



6� =
(n − 1)! θne−θt · I[yi>0, i=1,··· ,n−1, y1+···+yn−1<t]

θntn−1e−θtI[t>0]Z� =
(n − 1)! θne−θt · I[yi>0, i=1,··· ,n−1, y1+···+yn−1<t]

θntn−1e−θty�
/:}b*�AI! I[t>0]

P53, -3�b�




6� =
(n − 1)! I[yi>0, i=1,··· ,n−1, y1+···+yn−1<t]

tn−1I[t>0]Z� =
(n − 1)! I[yi>0, i=1,··· ,n−1, y1+···+yn−1<t]

tn−1
, t > 0y�
/:}b*�AI! I[t>0], VD�^3�.U t > 0

P67, - 12 � (, 33 ) b� { 6� [|G
* k \S.
 Ak =
n∑

i=1

X2k
/
nZ� [|G
* k \S.
 Ak =

n∑
i=1

Xk
i

/
njqx P90, - 6-7 �b�






6� NPZ):�e2`!e�
 µ̂∗ = X, σ̂2
∗ = S2

n �PdÆ�!iW Θ∗ = {(µ, σ2) :

µ ∈ R, σ2 > 0} *~.R�K� µ̂∗ K σ̂2
∗ :Æ� µ K σ2 * MLE,Z� NPZ):�e2`!e�l$o 2.6.6 h℄��u θ1 = µ

/
σ2, θ2 = −1

/
(2σ2), W1m 3.3.1 b4!$Æ9�f*_ θ̂∗1 = µ̂∗

/
σ̂2
∗ , θ̂∗2 = −1

/
(2σ̂2

∗) �PdÆ�!iW Θ∗ = {(θ1, θ2) : θ1 ∈ R, θ2 < 0}*~.R�F(y:Æ� θ1 K θ2 * MLE. K6 µ̂∗ K σ̂2
∗ :Æ� µ K σ2 * MLE,

P90, -3 �b� { 6� p(t1, · · · , tr) =Z� p(t1, · · · , tr; λ) =

P95, - 3-4 �b� { 6� 1946 �� Cramer VI</Y8�Z� 1946 �� H. Cramer VI</Y8�
P95,- 5-6�b�{ 6� _' 1949 �� Wald ���[|sQ"$ÆES*	:LA�Z� _' 1949 �� A. Wald ���[|sQ"$ÆES*	:LA�
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P107, - 13 �b� { 6� h(T ) = 1 − h1(T ) = 1 − (T−x0)
n−1

T n−1 I(x0,∞)(T ).Z� h2(T ) = 1 − h1(T ) = 1 − (T−x0)
n−1

T n−1 I(x0,∞)(T )

P107,- 14-15�b�{ 6� &JN L-S 1mh℄ h(T ) 2 g2(λ) * UMVUE.Z� &JN L-S 1mh℄ h2(T ) 2 g2(λ) * UMVUE.

P112, -11�a -10�b�{ 6� �� a 6= 0 K b Q X 5G�$hJ� θ *I!�Z� �� a 6= 0 K b 2Q θ 5G*�!�
P114, - 17 �b� { 6� � θ * C-R 8`�Z� � θ *qA:r5�ES9�* C-R 8`�
P124, -2�a -1�b�{ 6� [|� UMVUE !�' C-R �+�*8`�Z� [|� UMVUE *9�!�' C-R �+�*8`�
P125,- 4-5�b�





6� � θ *5�ES*9�89K θ * UMVUE, ��[
θ * UMVUE 9�Q C-R 8`�Z� � θ * UMVUE, ��[� UMVUE ^9�Q θ *5�ES9�* C-R 8`�jsx

P144,- 15�b�{ 6� K�OZ� K�J 2
√

n(mn − θ)/π g2�
�r�a$,O
P144, -3 a -2 �b� { 6� % n �:"��nMb=Q91m�OZ� nMb=Q91m�O
P149, -8 � (D� (4.4.3)) b� { 6� P̃ (a 6 θ 6 b) =

∫ b

a

√
n√
2π

e
−n(y−x̄)2

2 dy.Z� P̃ (a 6 θ 6 b) =
∫ b

a

√
n√
2π

e
−n(θ−x̄)2

2 dθ.

P150, -7 �b� { 6� −∞ < µ < +∞, τ > 0,Z� −∞ < θ < +∞, τ > 0,jux
P171, -5 �b� { 6� ℄(sXF ϕ(x) *C;I!N�Z� ℄(sXF ϕ(x) *C;I! βϕ(θ) N�
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P171, -5a -4�b�{ 6� �J α∗
ϕ(θ) K β∗

ϕ(θ) :ÆT8-I�7l 6*?v�Z� �J α∗
ϕ(θ) K γ∗

ϕ(θ) :ÆT8-I�7l 6*?v�
P171, -1 �b� 





6� β∗
ϕ(θ) =

{
0, θ ∈ Θ0,

1 − βϕ(θ), θ ∈ Θ1.Z� γ∗
ϕ(θ) =

{
0, θ ∈ Θ0,

1 − βϕ(θ), θ ∈ Θ1.

P183, -12 �b� 



6� |T | =

∣∣∣∣
Y −X

Sw

√
mn

m + n

∣∣∣∣ =Z� |Tw| =

∣∣∣∣
Y −X
Sw

√
mn

m + n

∣∣∣∣ =

P188, - 6 �b� 



6� |T | =

√
nm

n + m

∣∣∣∣
Y − X

Sw

∣∣∣∣ =Z� |Tw| =

√
nm

n + m

∣∣∣∣
Y − X

Sw

∣∣∣∣ =

P200, -1�b�




6� ϕ(x) =

{
1, % λ(T ) < λ0

2 χ2
2n(1 − α

2 ) O λ > λ0

2 χ2
2n(α

2 ),

0, �(.Z� ϕ(x) =

{
1, % T < λ0

2 χ2
2n(1 − α

2 ) O T > λ0

2 χ2
2n(α

2 ),

0, �(.

P210, -1 �b� 




6� f(x,θ′′)
f(x,θ′) = c(θ′′)

c(θ′) exp
{
(Q(θ′′) − Q(θ′))T (x)

}
.Z� f(x,θ′′)

f(x,θ′) = c(θ′′)
c(θ′) exp

{
(Q(θ′′) − Q(θ′))T (x)

}
.hy��� T (x) b* x �M-�

P225,- 9� (, 1 )b�{ 6� (2) �XF*#� α K p = 0.05 �8-7l 6*?v�Z� (2) �XF*#� α K p = 0.10 �8-7l 6*?v�
P225, -5� (, 3 )b�{ 6� (4) n =5"��� (2) bXF4,*C;I! ϕ(x), 4P θ = 3/4 C;Z� (4) n =5"��� (2) b`1*XFI! ϕ(x), % θ = 3/4 �C;
P226,- 12� (, 6 )b�





6� (2) �H�YAXFV p = 0.08 �8-7l 6*?v��H 0.10,Z� (2) �� XF*;1R2 {(X1, · · · , Xn) :
n∑

i=1

Xi > 1}, H�YAXFV p = 0.08 �8-7l 6*?v��H 0.10,
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P229, - 6 � (, 29 ) b� { 6� *$Æ�XF�Z� #�2 α *$Æ�XF�
P229,- 14-15� (, 33 )b�





6� &�XFV� “&O�g!22 0” *$Æ��Æ��[|��Æ��eO F :��*I!�Z� &�XFV� “&O�g!22 0” #�2 α *$Æ�XF�[|�XF*$Æ�� F �r*E�#0XI!�
P229, - 16 � (, 34 ) b� { 6� VZ)qG
�j8�Z� V, 32 *Z)qG
�j8�
P230,- 4-5� (, 43 )b�{ 6� ��XF4, H0 : µ > µ0 ↔ H1 : µ < µ0 * UMPT.Z� ��XF4, H0 : µ > µ0 ↔ H1 : µ < µ0 * UMPT, �b µ0 K α B1�
P230,- 6-7� (, 44 )b�{ 6� ��XF4, H0 : λ > λ0 ↔ H1 : λ < λ0 * UMPT.Z� ��XF4, H0 : λ > λ0 ↔ H1 : λ < λ0 * UMPT, �b λ0 K α B1�
P230,- 8-9� (, 45 )b�{ 6� ��XF4, H0 : σ2 6 σ2

0 ↔ H1 : σ2 > σ2
0 * UMPT.Z� ��XF4, H0 : σ2 6 σ2

0 ↔ H1 : σ2 > σ2
0 * UMPT, �b σ2

0 K α B1�
P230,- 10-11� (, 46 )b�{ 6� ��XF4, H0 : p > 1/2 ↔ H1 : p < 1/2 * UMPT.Z� ��XF4, H0 : p > 1/2 ↔ H1 : p < 1/2 * UMPT, �b α B1�
P230, -16� (, 49 )b�{ 6� H0 : λ 6 λ0 ↔ H1 : λ > λ0 *PP X(1) · · ·X(r) * UMPT (+��Z� H0 : λ 6 λ0 ↔ H1 : λ > λ0 *PP X(1) · · ·X(r) #�2 α * UMPT (+��
P230, -10� (, 51)b�{ 6� [| H0 : b 6 a ↔ H1 : b > a * UMPT �V�Z� [| H0 : b 6 a ↔ H1 : b > a #�2 α * UMPT �V�
P230, -6� (, 53 )b�





6� ∗53. � X1, · · · , Xn i.i.d. ∼ gU:� U(θ, 2θ), θ > 0.Z� 53. � X1, · · · , Xn i.i.d. ∼ gU:� U(θ, 2θ), θ > 0.hy�
/,J�{* ∗ J�
P230, -5� (, 53 )b�{ 6� θ > θ0 * UMPT �;�V� (+��Z� θ > θ0 #�2 α * UMPT �;�V��� θ0 K α B1 (+��
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P230, -3 � (, 53 ) b� { 6� β(θ) 2#0XI!�)Z� β(θ) 2#0XI! ) .hy���b*
.<JVTkJ1�
P231,- 1-2� (, 55 )b�{ 6� [| H0 : θ = θ0 ↔ H1 : θ 6= θ0 * UMPT �V (+��Z� [| H0 : θ = θ0 ↔ H1 : θ 6= θ0 #�2 α * UMPT �V (+��jox
P247, -13a -12�b�{ 6� W�2mw:� F Q!d X1, · · · , Xn �<�Z� W�2!d X1, · · · , Xn Qmw:� F �<�
P253,- 10�b�{ 6� T p̂∗j = p̂∗j (θ̂

∗
1 , · · · , θ̂∗s), W&%�*XF0Sr2Z� T p̂∗j = pj(θ̂
∗
1 , · · · , θ̂∗s), W&%�*XF0Sr2

P255,- 13�b�{ 6� p̂∗i = P (ai−1 6 X 6 ai) = P (ui−1 6 U 6 ui) = Φ(ui) − Φ(ui−1),Z� p̂∗i = P (ai−1 6 X < ai) = P (ui−1 6 U < ui) = Φ(ui) − Φ(ui−1),

P255, -11�b�{ 6� p∗2 = P (200 < X < 210) = P (−1.70 < U < −0.89) = 0.142,Z� p∗2 = P (200 6 X < 210) = P (−1.70 6 U < −0.89) = 0.142,

P259, - 1 �b� { 6� A2 : x�7D 5-10 \� A3 : x�7D 10-20 \�Z� A2 : x�7D 5-10 \� A3 : x�7D 11-20 \�
P260, - 3-4 �b� { 6� K�XF4,�� 6.4.4 ℄b*wH*�?�Z� K�XF4,�� 6.4.3 ℄b*wH*�?�jpx
P319,- 1-2�b�





6� No 7.2.10 h℄ θ *NF:�� N(µk(x), η2).Z� No 7.2.10 h℄ θ *NF:�� N(µk(x), η2
k), �b µk(x) = nk2x̄

/
(nk2 + 1),

η2
k = k2/(nk2 + 1).


